(SR ]

i

et

1. Momentum' ¢ A. The totsl mosnentam will stay the Number these from least (1).10 most (5) momeatum.
. same when objects interact. . . .
2. kgm/sec B B. Units for momentum, Abullet | Afastcar | Aslow | Abouse |A fasttrain
oy . . baseball
3. Eaw of -C_oa_‘xserva— C. 'Pm_cj:._t_ct ‘of an object’s mass and 5 ;_J / S(
tion of Momentur £~ velec.it}.’. o o J Q— o P00 |aia g e
4. Net. momeritum £ 1D Means Eo_ladd togather ai} of ;he :
_ individual momentmms (P, +p2 ... ). | or s v & @ . - - . I
3.Xp E;j E. The total of all the-momentums.
' If the hpehmer above shows the. posmon of an object every

How is it possible:that two objects have a fiet momenturn equal
t0.zer0? { There are:two Wiys,)

second, how does the momentum of the objeet:change?
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| A 3 kg dbject is going 22 wifs to fie'lefr. Find its monientum.
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A ball has 2 kgnv's of momentum when thrown 8:mv/s to the tight.
Find the mass of the ball, '
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Find the momentum of a 25 kg object going 4 m/s to'the right. How can an object have negative momentum‘?
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iV U /S 5;, -7 t’“’l{, é{m {_fg T jOQ "{‘9 Wi Iy \ I afast Dbjec-'t hits 4 sloweT object, why does the slower object
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Tf twa objects have 24 kgm/s of momentuny bei‘ore they collide.
How much momentum do ihe two ob_;acta have afterwards?-
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How doas aracket fly-im. epace if it has nothing 1o push oa?
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A 28 kg cart has -123 kénv's of mioméntim. How fastisthe-
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Two objects are.at rest. Find the nét momentum of the two.

Paok = Oswm §§

‘Caletlate the net moteniam
of these two abjects.
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Constant Speed

Do{ Conpewdio ot
A S0kg girlon ice skates throws'a 3 kg ball to:the Teft. If the ball
etds up going 20 m/s, .
‘A) Hhe girl and ball are initially at rest, what was their

2 =
velocities? vyu= vu= Omfg
B) Whatis the niet momentum cxf the girl and ball before
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B) How:much momentum do the’ Ulrt and hall have to hiave

alfterwards? Ep,,mr-. 0@5 Wi g

) Use the Law of Conservation of Momentum to find how fast
the girl is going afterwirds. 5 ¥p =& Pa
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